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ö� ý�ûüðÄþø ø ñÀõ :ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�ä¢�þ ù�ÚÈ÷�¢ ,¤�õ� ùøÂð1390*5*16 :ýÂÚ÷¥�� ßþÂ¡� ¾þ¤�� 1390*1*30 :´ê�þ¤¢ ¾þ¤��¥� �f õ�î �î ¢�ªüõ üêÂãõ ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ �ó�Öõ ßþ� ¤¢ : ùÀ�Ø��ÜÞ� ¥� âþ¥�� Ýúõ «��¡ ¥� ü¡Â� .´¨� �þ�Þµõ ùÀõ� ´¨¢�� ßþ� ¥� Û±ì �»÷�â��� ø ¤ø�µÈð Àó�õ â��� ,�� k �±�Âõ ý�û¤ø�µÈð ,âþ¥�� â��� ø üó�Ú� â��� �Âê�÷��õ ,ß�Ú÷��õ ¥� ��ê�Â½÷� ß�Ú÷��õ ,üðÀ�Èî ø üÚó�� °þ�Â® ,Å÷�þ¤�ø ,�Ê¿Èõß� �»Þû .¢�ªüõ ü¨¤Â � ü �� þ¢¤ø�Â � ÓÜ µ¿õ ý�û©ø¤ ø ùÀõ� ´¨¢� � Àõ øÝÞ�Æî�õ ø ý¤ø�µÈð ý�û©ø¤ ¥� Û¬�� ý�ûÂð¢¤ø�Â� ý¤�ð¥�¨ ü¨¤Â� ý�Â�âþ¥�� �Æþ�Öõ � � ö� þ� � ¤¢ .¢ÂþÁ�üõ �¤�¬ ý¥�¨�� ±ª ý��ã ó�Îõ ,üþ�Þ� µ¨¤¢.¢�ªüõ �µ¡�¢Â� ´¡���Øþ âþ¥�� ø ÀþÀ� ´¡���Øþ�ó��,´¡���Øþ âþ¥�� ,´¡���Øþ�ó�� âþ¥�� ,ö�÷�ª ü�øÂµ÷� ,ü÷¤ ü�øÂµ÷ � : ýÀ�Üî ý�ûù��ø.��ê�Â½÷� ß�Ú÷��õ�õÀÖõ 1¥� ý�ù¢��÷�¡ �� Âµõ�¤� � ×þ ö¢Âî �ê�®� ý�Â� �¤ üªø¤ (1997) ß�Øó� ø ñ�ª¤�õÂð� .À�µêÂð ¤�î �� Û±þ�ø ø üþ�Þ÷ ý�ûñÀõ ý�Â� �¤ ö� ø À÷¢Âî üêÂãõ �ûâþ¥��0 . emahmoudi�yazduni.a
.ir,ý¢�Þ½õ üÆ�ä :�ó�Öõ ñ�ÿÆõ ×�÷øÂµØó� §¤¢�0 . 62F10 ,60E05 :(2000) ü®�þ¤ ýÀ��á�®�õ Àî



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 88â��� �¤�¬ßþ� ¤¢ ,Àª�� ÀþÀ� Âµõ�¤� � � ø X üê¢�Ê� Â�çµõ âþ¥�� â�� � F (x)�¤�¬�� �ê�®� Âµõ�¤�� ×þ �� ÀþÀ� ñÀõ âþ¥��H(x) = F (x)1� (1� �) �F (x) ; �1 < x <1; � > 0:. �F (x) = 1� F (x) ö� ¤¢ �î ,¢�ªüõ ÓþÂã�ü¨¤Â� ¢¤�õ Õ�ì¢ ¤�Ï�� ñ�� �� �� ©�üð¢�¨ Ýè¤üÜä ´¡���Øþ�ó�� âþ¥��«��¡ ü¡Â� ø âþ¥�� ßþ� ¥� ü������ ö���üõ ¤�î ß�óø� ö���ä�� .´¨� �µêÂÚ÷ ¤�Âì� ó�� âþ¥�� ßµ¡�¨ ý�Â � �ú ÷� .¢Âî ùÀû�Èõ (2002) ö�¤�ØÞû ø � µ ��ð ¤¢ �¤ö�×Þî g(x) = 2f(x)F (�x) �¤�¬�� (1985) ü��ó�¥� éøÂãõ ©ø¤ ¥� ´¡���Øþ´¡�� �Ø þ â þ¥� � ø ü ó� Ú� â ��� � ° � �Â � � � F (x) ø f(x) ö� ¤¢ � î ,À ÷�� µ êÂ ðø �µ��ð Í¨�� ùÀõ� ´¨¢�� Í��ø¤ ø «��¡ ¥� ý¤��Æ� �÷�Ô¨�µõ .À�µÆû U(��; �)Õ�ì¢ «��¡ (2004) ñ�þ¤� ø ���¤�¢�÷ Å³¨ .´¨� ù¢�� ù�±µª� (2002) ö�¤�ØÞûâ��� ,âþ¥�� â��� ,üó�Ú� â��� :¥� À��¤�±ä �î À÷¢¤ø� ´¨¢�� �¤ ´¡���Øþ�ó�� âþ¥��°þÂ® ,Å÷� þ¤�ø ,��k � ± �Â õ ý�îÂõ ¤ø� µÈð ,��k � ± �Â õ ¤ø� µÈð ,´ÆØª  Â ÷¥� ��ê�Â½÷� ø ö�÷�ª ü�øÂµ÷� ,ü÷¤ ü�øÂµ÷� ,¤ø�µÈð Àó�õ â��� ,ý¤ø�µÈð ø üÚó��.Àõ ø �÷��õ ,ß�Ú÷��õýÀ þÀ � ù¢�� ÷� ¡ ,ü ± � �Â � ý� ûù¤� õ� â þ¥� � ¥� ù¢� Ô µ ¨� � � (2004) � ÷� �éøÂ ã õ ù¢�� ÷� ¡ .¢Â î ü êÂ ã õ �¤ Â �Ç � � ý� ûÂ µ õ�¤� � ¢�À ã � � � � ûü ó� Ú � ¥�F1 ý¤��î âþ¥�� â���� �� ùÂ�çµõø¢ ý�ûâþ¥�� ¥� (FGM)1 öÂµÆ�ð¤�õ-Û±õ�ð-üó¤�ê�¤�¬�� F2 øH(x; y) = F1(x)F2(y)f1+ � �F1(x) �F2(x)g: (1)ø ý¤�õ-´�ø¤¢ �� Â�Ç�� ������ ý�Â�) � 2 [�1;1℄ ö� ¤¢ �î ,¢�ªüõ ÓþÂã�©ø¤ ¥� ù¢�Ôµ¨� �� (2007) ���î ø ���¤�¢�÷ ß��»Þû .(¢�ª �ã��Âõ (2001) ���î�¤ ´¡���Øþ�ó�� âþ¥�� ø À÷¢Âî üêÂãõ �¤ �ó�� ý�ûñÀõ üÜî �Âê ,(1985) ü��ó�¥�(2011) ö�¤�ØÞû ø ü��Æ�Â�õ .À÷¢�¢ ¤�Âì ü¨¤Â� ¢¤�õ �ó�� ñÀõ ×þ ö���ä��1 Farlie-Gumbel-Morgenstern



89 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�äý�û�÷�Þ÷ ÝÞ�Æî�õ ø ÝÞ���õ ö¢Âî �µ¿�õ� §�¨�Â� �¤ �ûâþ¥�� ¥� ýÀþÀ� §�î.À�µêÂð ¤�î�� §��� ø üþ�Þ÷ ý�ûâþ¥�� ý�Â� �¤ö� ø À÷¢Âî üêÂãõ üê¢�Ê�� � �f õ� î �î ¢�ªüõ üêÂã õ À þÀ� ´¡�� �Ø þ� ó�� âþ¥� � ×þ � ó� Ö õ ß þ� ¤¢âþ¥�� ßþ� .´¨� �ø�Ôµõ À÷�ùÀª üêÂãõ ßþ� ¥� Û±ì �î üµ¡���Øþ�ó�� ý�ûâþ¥��¢Âð ¤�Èä� Ýì¤ ß�õ�k ßþÂ�×þ¢�÷ �� �î üþ�Î¡ Âþ¢�Öõ âþ¥�� ö���ä �� À÷���üõüþ�û���õ¥ ¤¢ ü±ó�� ý�û¢Â�¤�î À÷���üõ âþ¥�� ßþ� ß��»Þû .¢ø¤ ¤�î �� À÷�ùÀªýÂ�ð�÷�Þ÷ ,üê¢�Ê� ¢�Àä� À�ó�� ,×þ��ê ,ýÂµõ�¤���÷ ý�ûö�õ¥� ,­Âê ö�õ¥� À�÷�õö¢ø�ê� .Àª� � � µª�¢ ùÂ�è ø üØ�ê�Â � ý�ûñÀõ ö¢�� üê¢�Ê� ö�õ¥� ,ýÀ� ��Ö ±ÏñÀõ �� �î üþ�ûù¢�¢ ø ¢�ªüõ âþ¥�� ÂµÈ�� ýÂþÁ�é�Îã÷� ¶ä�� üÚó�� Âµõ�¤��.À÷�ªüõ Â�ÆÔ� Û��ì üµ��¤ �� ÀþÀ� ñÀõ �� À�µÆ�÷ ����� Û��ì ´¡���Øþ,üó�Ú� â��� ,âþ¥�� â��� Ûõ�ª ÀþÀ� ´¡���Øþ�ó�� âþ¥�� «��¡ 2 Ç¿� ¤¢¤�Âì ü¨¤Â� ¢¤�õ �û¤ø�µÈð ,�Ê¿Èõ â��� ,¤ø�µÈð Àó�õ â��� ,´ÆØª  Â÷ â���¤¢ .À÷�ªüõ ù¢¤ø� ´¨¢ �� âþ¥�� ý�ûÂµõ�¤�� ¢¤ø�Â� 3 Ç¿� ¤¢ Å³¨ .¢Â�ðüõø ´¨� ùÀª ���¤� �ûÂµõ�¤�� ¢¤ø�Â� ù�½÷ Çþ�Þ÷ ý�Â� ý¥�¨��±ª ý��ãó�Îõ 4 Ç¿�ø âþ¥�� ßþ� ß�� ý��Æþ�Öõ ,ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ýÂ�Â� ö¢�¢ ö�È÷ ý�Â��µ¡�¢Â� ýÂ�ð�¹�µ÷ ø ¶½� �� üþ�ú÷ Ç¿� ¤¢ .´¨� �µêÂð ��¹÷� ´¡���Øþ âþ¥��.Àª Àû��¡ÀþÀ� ´¡���Øþ�ó�� âþ¥�� 2,À �ª� � U(��; �) âþ¥�� ¥� üê¢�Ê� ý�� ÷�Þ ÷ X2 ø X1 À� �î ­Âê : 1 ÓþÂã�ü ó� ÷Â � ü ê¢� Ê � Â � ç µ õ × þ Z À � � î ­Â ê �1 � � � 1 ý�Â � ß � � » Þ ûÀ þÀ� Â � ç µ õ ß µ êÂ ð ÂÑ ÷¤¢ � � ,Àª� � 1+�2 ý¥øÂ � � Â µ õ�¤� � � � � û Xi ¥� Û Ö µÆ õ,Y2 = max(X1; X2) ø Y1 = min(X1; X2) ö� ¤¢ � î ,X = ZY1 + (1 � Z)Y2�� ´¨� Â��Â� X üê¢�Ê� Â�çµõ âþ¥�� â��� �¤�¬ßþ�¤¢FX (x) = (1+ �2 )FY1(x) + (1� �2 )FY2(x);



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 90âþ¥�� FY2(x) ø FY1(x) ý¤�ÁÚþ�� � � .´¨� âþ¥� � üÚó�� Âµõ�¤� � � ö� ¤¢ �î�¤�¬ �� ÀþÀ� ´¡���Øþ �ó��F (x) = (1+ �)G(x) � ��G(x)�2= G(x)f1 + � �G(x)g; �1 � � � 1; (2)âþ¥�� â��� .´¨� U(��; �) üãÞ¹� âþ¥�� â��� ,G(x) ö� ¤¢ �î ,¢�ªüõ Û¬��� � .´¨� (1) ùÂ � ç µ õø¢ â þ¥� � â �� � ýÀã � ×þ ´ó�� (2) �Î ��¤ ¤¢ ùÀª üêÂã õ�� ´¨�Â��Â� ÀþÀ� ´¡���Øþ�ó�� âþ¥�� â��� ,G(x) ý¤�ÁÚþ��F (x) = (x+ �2� )(1+ �� � x2� ); �1 � � � 1: (3)�Âê �� ÀþÀ� ´¡���Øþ�ó�� ñ�Þµ�� üó�Ú� â��� ,x �� ´±Æ÷ ö� ¥� ýÂ�ðÕµÈõ �� �îf(x) = 12� (1� �x� ); x 2 (��; �); �1 � � � 1; (4)�î ü¬�¡ ´ó�� ý�Â� .¢�ªüõ ù¢�¢ ö�È÷ X � NSU(�; �) ¢�Þ÷ �� �î ,Àª Àû��¡´¡���Øþ âþ¥�� �� �fÖ�ì¢ âþ¥�� ßþ� ,(� = 0) Àª�� ÂÔ¬ Â��Â� üÚó�� Âµõ�¤�� ¤�ÀÖõ.Àª Àû��¡ üØþ U(��; �)¥� ´¨� �¤�±ä 2´ÆØª  Â÷ â��� ù�Ú÷� ,X � NSU(�; �) Âð�H(x) = 2(� � �x)(x� �)[�(� � 2) + �x℄ :.¢�� Àû��¡ ý¢�ã¬ �1 � � � 0 ý�¥� �� ø üóø�÷ üã��� 0 � � � 1 ý�¥� �� �îÀþÀ� ´¡���Øþ�ó�� âþ¥�� ´ÆØª  Â÷ â��� ø âþ¥�� â��� ,üó�Ú� â��� ý�û¤�¢�Þ÷.À÷�ùÀª ù¢�¢ ö�È÷ 1 ÛØª ¤¢ � ø � ÓÜµ¿õ Âþ¢�Öõ ý�¥� ��:�Ê¿Èõ â��� ø ¤ø�µÈð Àó�õ â���¥� ´¨� �¤�±ä ö� ¤ø�µÈð Àó�õ â��� ù�Ú÷� ,X � NSU(�; �) Âð�2 Hazard rate fun
tion



91 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�ä
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´¡���Øþ�ó�� âþ¥�� ´ÆØª  Â÷ â��� ø âþ¥�� â��� ,üó�Ú� â��� ¤�¢�Þ÷ :1 ÛØª� ø �ÓÜµ¿õ Âþ¢�Öõ ý�¥� �� ÀþÀ�



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 92MX(t) = E(exp(tX)) = �t�� 
osh(t�) + (t� + �) sinh(t�)(t�)2 :�¤�¬ �� âþ¥�� ßþ� �bÊ¿Èõ â��� °��Â� ß�Þû ���(t) = E(exp(itX)) = �it�� 
osh(it�) + (it� + �) sinh(it�)(it�)2 ;.´¨� ÍÜµ¿õ ¢Àä i = p�1 ö� ¤¢ �î ,´¨�:�û¤ø�µÈð¥� ´¨� �¤�±ä X ý�îÂõ ¤ø�µÈð ß�õ�n�0n = E(Xn) =8><>: �nn+1 �ø¥ n� ��nn+2 ¢Âê n; (5)üÚµÆ� � Âµõ�¤�� �� �ø¥ °��Âõ ý�îÂõ ý�û¤ø�µÈð ¢�ªüõ �Ñ��õ �î ¤�Ïö�Þû(5) �Î��¤ �� ���� �� .À�µÆû � ¥� üã��� ¢Âê °��Âõ ý�û¤ø�µÈð�î üó��¤¢ ¢¤�À÷�¤�¬�� �¤�ú� �� ñø� ý�û¤ø�µÈð�01 = ���3 ; �02 = �23 ; �03 = ��3�5 ; �04 = �45 :Í Æ � � � � �� � � � Â Ú þ¢ ü êÂ Ï ¥�.À ÷� ªü õ � ± ¨� ½ õñ�� ý�îÂ õ ¤ø� µÈð ß � õ�n ,�n = E(X � �)n =Pnk=0(�1)n�k�nk��0k�n�k�¤�¬ �� ß�Ú÷��õ�n =8>>>>>><>>>>>>: �n([n=2℄Pi=0 12i+1�n2i� ��3�n�2i � [(n�1)=2℄Pi=0 12i+3� n2i+1� ��3�n�2i) �ø¥ n�n([(n�1)=2℄Pi=0 12i+1�n2i� ��3�n�2i � [n=2℄Pi=0 12i+3� n2i+1� ��3�n�2i) ¢Âê n;Â��Â � X Å÷�þ¤�ø ßþ�Â�� � � .´¨� u ¼�½¬ Ǒ�� ùÀ�û¢ ö�È÷ [u℄ ö� ¤¢ �î ,´¨��� ´¨��2 = �2(3� �2)9 :



93 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�ä¥� À��¤�±ä °��Â� �� ��÷ ß�Ú÷��õ ñ�� �¤�ú� ø ��¨ �±�Âõ ý�îÂõ ý�û¤ø�µÈð�3 = 2135�3�(9 � 5�2);�4 = � 1135�4(�27+ 6�2 + 5�4):�� ´¨� Â��Â� ,´¨� âþ¥�� ö¤�Ö� �Àä ö���õ ùÀ�û¢ö�È÷ �î âþ¥�� 3üÚó�� Âµõ�¤��
1 = �3(�2)3=2 = 2�(9 � 5�2)5(3 � �2) 32 :üÚµÆ� � Âµõ�¤�� �� �ú�� üÚó�� ö���õ âþ¥�� ßþ� ý�Â� ¢�ªüõ �Ñ��õ �î ¤�Ïö�Þûâþ¥�� üÚó�� ö���õ 2 ÛØª .´¨� Â����ü� âþ¥�� ö¢Âî �ó�� ¤¢ � Âµõ�¤�� ø ¢¤�¢� î ¢�ª ��� � .Àû¢üõ ö�È ÷ ÓÜ µ¿õ ý�û� ý�¥� � � �¤ À þÀ� ´¡�� �Ø þ� ó���ÎÖ÷ ßþ� ¤¢ üÚó�� ¤�ÀÖõ .Àþ�üõ ´¨¢ �� � = 1 ý�¥� �� üÚó�� ¤�ÀÖõ ßþÂ�Ç��¥� ´¨� �¤�±ä ,âþ¥�� ßþ� 4üðÀ�Èî .´¨� 2p25 �� Â��Â�
2 = �4(�2)2 = �3(�27+ 6�2 + 5�4)5(�2 � 3)2 :ÓÜµ¿õ ý�û� ý�¥� �� �¤ üðÀ�Èî ö���õ 2 ÛØª .¢¤�¢ üÚµÆ� � Âµõ�¤�� �� �ú�� �îüÚó�� À�÷�õ ��÷ üðÀ�Èî ßþÂ�Ç�� ¢�ªüõ �Ñ��õ �î ¤�Ï ö�Þû .Àû¢üõ ö�È÷¤��ãõ é�Â½÷� ø ß�Ú÷��õ ¥� ù¢�Ôµ¨� �� .´¨� 125 Â��Â� ø Àµê�üõ ë�Ô�� � = 1 ý�¥� ��.¢¤ø� ´¨¢�� �¤ âþ¥�� üðÀ�î�Â� ø ��Â��ç� °þÂ® üð¢�¨ �� ö���üõ�� ´¨Â��Â� âþ¥�� ßþ� ��Â��ç� °þÂ®C:V = �� = �p3� �2� :Â��ç� � �� �ú�� ø �µª�À÷ üÚµÆ� � Âµõ�¤�� �� üðÀ�Èî ø üÚó�� °þ�Â® À�÷�Þû �î�� ´¨� Â��Â� ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ý�Â� üðÀ�î�Â� °þÂ® .À�îüõR = �2� = �(�2 � 3)3� :3 Skewness4 Kurtosis



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 94� ø � Âµõ�¤�� ø¢ Âû �� �î ´¨� üÊ¡�ª �ú�� üðÀ�î�Â� ¤��ãõ �î ´¨� Âî£ ö�þ�ª,üÚó�� ,Å÷� þ¤�ø ,ü®� þ¤ À� õ� ý�û¤�¢�Þ ÷ ùbÀ �û¢ ö�È÷ 2 ÛØª .¢¤�¢ üÚµÆ�� ÓÜµ¿õ Âþ¢�Öõ ø � = 2 ý�¥��� üðÀ�î�Â� °þÂ® ø ��Â��ç� °þÂ® ,üðÀ�Èî.´¨�:âþ¥�� Àõ ø �ûíÀ��Â��Â� (3) �Î��¤ �� ���� �� À�îüõ ëÀ¬ F (xp) = p �Î��¤ ¤¢ �î âþ¥�� ��p íÀ���� ´¨�xp = �[1�p1+ �(� + 2� 4p)℄� : (6)�¤�¬ �� ÀþÀ� ´¡���Øþ�ó�� âþ¥�� �÷��õ (6) �Î��¤ ¤¢ p = 12 ö¢�¢ ¤�Âì ��med = �(1�p1+ �2)� : (7)�� ´¨� Â��Â� ��÷ âþ¥�� ßþ� Àõ 1 ÛØª �� ���� �� .¢�ªüõ Û¬��Mod = 8><>: �� 0 < � < 1� �1 < � < 0: (8):��ê�Â½÷� ß�Ú÷��õß�Ú÷� � õ Â�Ñ ÷ üþ�û¤� �ãõ ¥� ù¢�Ô µ¨� � � À ÷�� �üõ �ãõ�� ×þ ¤¢ üðÀ�î�Â � ö���õß�Ú÷��õ ¥� ��ê�Â½÷� ß�Ú÷��õ .¢�ª ýÂ�ð ù¥�À÷� Àõ ø �÷��õ ,ß�Ú÷��õ ¥� ��ê�Â½÷��ä�Þ¹õ ×þ ¤¢ ¢���õ �Â� ¯�Ö÷ üþ�¨��ª ý�Â� ÂµÈ�� �î ´¨� À�Þ÷��� ùb¤�õ� ×þüþ�û¤��ãõ �� ´±Æ÷ �÷��õ ¥� ��ê�Â½÷� ß�Ú÷��õ .¢Â�ðüõ ¤�Âì ù¢�Ôµ¨� ¢¤�õ �ûù¢�¢ ¥�üþ�ûâþ¥�� ý�Â� üµ� �î ´¨� Â�À�Þ÷��� �÷�Þ÷ ¢¤�À÷�µ¨� é�Â½÷� ø Å÷�þ¤�ø Â�Ñ÷.¢Â�ð ¤�Âì ù¢�Ôµ¨� ¢¤�õ À÷���üõ ��÷ ¢¤�À÷ ¢��ø �ú÷� ß�Ú÷��õ �î üª�î À�÷�õâ þ¥� � ß � Ú ÷� � õ ¥� é�Â ½ ÷� ß � Ú ÷� � õ :ß � Ú ÷� � õ ¥� é�Â ½ ÷� ß � Ú ÷� � õ -Ó ó��¤�¬ �� ÀþÀ� ´¡���Øþ�ó��Æ1(X) = �Z�� j x� � j f(x) dx



95 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�ä

(¢) ,ü Ú ó� � (�) ,Å ÷� þ¤�ø (�) ,ü ®� þ¤ À � õ� (Ó ó�) ý� û¤�¢� Þ ÷ :2 ÛØªÀþÀ� ´¡���Øþ�ó�� âþ¥�� üðÀ�î�Â� °þÂ® (ø) ø ��Â��ç� °þÂ® (ù) ,üðÀ�Èî�ÓÜµ¿õ Âþ¢�Öõ ø � = 2 ý�¥���



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 96= �Z�� (�� x)f(x)dx + �Z� (x� �)f(x) dx= �F (�)� �Z�� xf(x) dx+ �Z� xf(x) dx� �(1� F (�))= 2�F (�) � 2 �Z�� xf(x) dx:ö�� .� = E(X) �îý¤�Ï�� ,¢�ªüõ �±¨�½õ�Z�� xf(x) dx = �324 (2�4 + 9(�� 3)� 162);.Æ1 = �(�2�9)2162 ßþ�Â����´ ¨¢� � ¤�À Ö õ � � � �� � � � :� ÷� � õ ¥� é�Â ½ ÷� ß � Ú ÷� � õ -�:´ª�¢ Ý�û��¡ (7) �Î��¤ ¥� �÷��õ ý�Â� ùÀõ�Æ2 = Z ��� jx�medjf(x)dx= 148 � �p1+ �2 ��3 � 8�� 12�� 3�3 + 6�2 + 8�+ 36� ::Ýþ¤�¢ (8) �Î��¤ ¥� ù¢�Ôµ¨� �� :Àõ ¥� é�Â½÷� ß�Ú÷��õ -�Æ3 = R ��� jx�Modjf(x)dx= 8><>: � � ��3 0 < � < 1� + ��3 �1 < � < 0: :ü�øÂµ÷�Çþ�õ¥� ×þ �b¹�µ÷ ö¢�� ü���Ç�� Û��ìÂ�è ö���õ �î ´¨� á�Ï� ¥� ý�ù¥�À÷� ,ü�øÂµ÷�X Âð� .´¨� ´�ãÎì �Àä ö���õ ùbÀ�û¢ ö�È÷ ü�øÂµ÷� ß��»Þû .À�îüõÉ¿Èõ �¤



97 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�äÀª�� f(x) üó�Ú� â��� ø F (x) �µ¨��� �fÖÜÎõ üãÞ¹� âþ¥�� �� üê¢�Ê� Â�çµõ ×þÓþÂã� H = E[� log(f(X))℄ Í¨�� F ý�Â� ´�ãÎì �Àä ¤��ãõ �¤�¬ ßþ� ¤¢À÷�ùÀª üêÂãõ âþ¥�� ×þ ü�øÂµ÷� ø á�Ï� ö���õ ý�Â� ý¢�þ¥ ý�úÊ¡�ª .¢�ªüõ.¢Âî ù¤�ª� ö�÷�ª ø ü÷¤ ü�øÂµ÷� �� ö���üõ �ú÷� ßþÂµÞúõ ¥� �îÂþ¥ Í��ø¤ Í¨�� ö�÷�ª ø ü÷¤ ü�øÂµ÷� Âþ¢�Öõ ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ý�Â�.À÷�ªüõ �±¨�½õ�¤�¬ �� �î ü÷¤ ü�øÂµ÷� :ü÷¤ ü�øÂµ÷� -Óó�gR(
) = 11� 
 lognZ ��� f
(x)dxo; 
 > 0; 
 6= 1:¥� ´¨� �¤�±ä ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ý�Â� ,¢�ªüõ ÓþÂã�gR(
) = 11� 
 logn (1+ �)
+1 � (1� �)
+1�2
�
�1(1+ 
) o:�î ¢�ªüõ ÓþÂã� E[� log f(X)℄ �¤�¬�� ö�÷�ª ü�øÂµ÷� :ö�÷�ª ü�øÂµ÷� -�âþ¥�� ý�Â� ö�÷�ª ü�øÂµ÷� Û¬�� .´¨� r " 1 ý�Â� ü÷¤ ü�øÂµ÷� ¥� ü¬�¡ ¢¤�õ:�� ´¨� Â��Â� ÀþÀ� ´¡���Øþ�ó��E[� log f(X)℄ = � �Z�� 12� (1� �x� ) log( 12� (1� �x� ))dx (9)= log(2�)� �Z�� 12� (1� �x� ) log(1� �x� )dx; (10):Ýþ¤�¢ u = 1��x� Â�çµõ Â��ç� ¥� ù¢�Ôµ¨� �� �î�Z�� 12� (1� �x� ) log(1� �x� )dx = (1� �)24� flog(1� �)� 12 ln10g(11)� (1+ �)24� flog(1+ �)� 12 ln10g;(12)



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 98:¢�ªüõ Û¬�� Âþ¥ �¤�¬ �� ö�÷�ª ü�øÂµ÷� ,(9) ¤¢ (11) �Î��¤ ö¢�¢ ¤�Âì ��E[� log f(X)℄ = 1ln10� ln(2�) + (1� �)24� ln(1� �)� (1+ �)24� ln(1+ �) + ��::ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ö¤�Ö� ´�¬�¡ ø üê¢�Ê� �Æþ�Öõ Â÷ â��� ´�¬�¡ �� âþ¥�� â��� ×þ ,(3) ÀþÀ� ´¡���Øþ�ó�� âþ¥�� â��� : 1 Ýó6üóø�÷ ´ÆØª  Â÷ â��� ´�¬�¡ ý�¤�¢ ø �1 � � � 0 ý�Â� 5ý¢�ã¬ ´ÆØª.´¨� 0 � � � 1 ý�Â�V ø �U ù� Ú ÷� ,V � NSU(�;��) ø U � NSU(�; �) À � � î ­Â ê : 2 Ýó.À�µÆû âþ¥��Ýû:Ýþ¤�¢ ´¨� ö¤�Öµõ ÂÔ¬ ñ�� U �î üþ��ö� ¥� : ö�ûÂ�F�U (t) = P (�U � t) = 1� P (U � �t)= 1� (�t+ �2� )(1+ �� + t2� )= ( t+ �2� )(1� �� � t2� )= P (V � t) = FV (t)::ÀþÀ� ´¡���Øþ�ó�� âþ¥��Ýû ø ÛÖµÆõ üê¢�Ê� Â�çµõ ø¢ á�Þ¹õ âþ¥��fX2(�) ø fX1(�) üó�Ú� â���� �� �µ¨��� ø ÛÖµÆõ üê¢�Ê� Â�çµõ ø¢ X2 ø X1 Âð�¥� ù¢�Ôµ¨� �� üê¢�Ê� Â�çµõ ø¢ ßþ� á�Þ¹õ üó�Ú� â��� ù�Ú÷� À�ª�� (��; �) ù¥�� ¤¢5 In
reasing hazard rate (IHR)6 De
reasing hazard rate (DHR)



99 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�ä�� ´¨� Â��Â� fZ(z) = R fX1(x1)fX2(z � x1)dx1 Ç»�� �Î��¤fZ(z) =8><>: R �+z�� fX1(x1)fX2(z � x1)dx1 �2� < z < 0R �z�� fX1(x1)fX2(z � x1)dx1 0 < z < 2�: (13)ý¤�ÁÚþ�� �� ,Àª�� NSU(�; �) âþ¥�� ¥� üê¢�Ê� ý��÷�Þ÷ X2 ø X1 �Ø÷� ­Âê ��,Z = X1 +X2 á�Þ¹õ üó�Ú� â��� ,(13) ¤¢ (4) �Î��¤ ¥� X2 ø X1 üó�Ú� â����.¢�ªüõ Û¬�� Âþ¥ �¤�¬��fZ(z) =8<: 14�4 ��2z + 2�3 � ��z2 � 2��2z + �2z36 � �2�2z � 2�2�33 � �2� < z < 014�4 �� �2z + 2�3 + ��z2 � 2��2z � �2z36 + �2�2z � 2�2�33 � 0 < z < 2�:âþ¥�� ý�ûÂµõ�¤�� ¢¤ø�Â� ý�û©ø¤ 3: ý¤ø�µÈð ¢¤ø�Â� -Óó�.Àª�� (4) ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ¥� üê¢�Ê� ý��÷�Þ÷ X1; : : : ; Xn À��î ­Âê�ãõ�� ø �÷�Þ÷ ý�û¤ø�µÈð ö¢�¢ ¤�Âì ýø�Æõ �� � ø � ý�ûÂµõ�¤�� ý¤ø�µÈð ¢¤ø�Â��¤�¬��8><>: ���3 = m1�2(3��2)9 + �2�29 = m2;ù�Úµ¨¢ Û� ¥� .m2 = 1nPni=1 x2i ø m1 = 1nPni=1 xi ö� ¤¢ �î ,À�þ�üõ ´¨¢��:¥� À��¤�±ä � ø � ý�ûÂµõ�¤�� ý¤ø�µÈð ¢¤ø�Â� ë�ê ��¢�ãõ~� =p3m2; ~� = �p3m1pm2 :: üþ�Þ�µ¨¤¢ ÝÞ�Æî�õ ¢¤ø�Â� -�üþ�Þ�µ¨¤¢ â��� ,À�ª�� ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ¥� ùÀû�Èõ n ,x1; � � � ; xn Âð�L(�; �) = 1(2�)n nYi=1(1� �xi� ); �� < xi < �; i = 1; � � � ; n:



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 100Ýµþ¤�Úó â��� ,L(�; �) �b ó¢�ãõ ¤¢ �̂ ý¤�ÁÚþ�� �� .¢�ªüõ ÝÞ�Æî�õ �̂ = max jxij ¤¢�� ´¨� Â��Â� üþ�Þ�µ¨¤¢`(�) = �n log(2�̂) + nXi=1 log �1� �xi�̂ �; j�j � 1::Ýþ¤�¢ � �� ´±Æ÷ ë�ê �ó¢�ãõ ¥� ýÂ�ðÕµÈõ ���`(�; �)�� = nXi=1 xi(�xi � �̂) = 0:ý¢Àä ý�úªø¤ �� �î ´¨� ë�ê �ó¢�ãõ ���� � ý�Â� üþ�Þ�µ¨¤¢ ÝÞ�Æî�õ ¢¤ø�Â�.¢�ªüõ Û¬��ý¥�¨��±ª �ãó�Îõ 4:¢Âî ù¢�Ôµ¨� ©ø¤ ø¢ ¥� ö���üõ ÂÑ÷ ¢¤�õ âþ¥�� ¥� ý¥�¨��±ª ý�Â�¥� x2 ø x1 ü þ� �ø¢ ü ê¢� Ê � � ÷� Þ ÷ � Ü �Â õ Â û ¤¢ �À µ �� :ñø� ©ø¤�÷�Þ÷ ø¢ ÝÞ�Æî�õ ø ÝÞ���õ Å³¨ ,¢�ªüõ À�ó�� �¤ (��Üãõ �) U(��; �) âþ¥��:¢�ªüõ °�îÂ� Âþ¥ �¤�¬ �� 1+�2 ñ�Þµ�� �� ùÀª À�ó��x = 1+ �2 y1 + 1� �2 y2;.y2 = max(x1; x2) ø y1 = min(x1; x2) ö� ¤¢ �î� � Ì ì ¥� ù¢� Ô µ ¨� ø â þ¥� � ö¢� � � µ ¨� � � � � � �� � � � :�ø¢ ©ø¤ý¢Àä u ö� ¤¢ �î ,F (x) = u � ó¢� ã õ Û� ¥� ´¨�üê� î ,ñ�Þ µ�� ñ�ÂÚ µ ÷� Û þÀ ± �´ª�¢ Ý�û��¡ �¤�¬ ßþ� ¤¢ .¢�ª ù¢�Ôµ¨� ,´¨� ×þ ø ÂÔ¬ ß�� üê¢�Ê�(x+ �2� )(1+ �� � x2� ) = u:



101 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�ä:¢�ªüõ Û¬�� Âþ¥ �¤�¬ �� x ,ë�ê �ó¢�ãõ Û� ¥� Å�x = �� � �p1+ �(2+ �� 4u)�� ;ý�Â� ø � ¥� Â�ï¤�� ,� > 0 ý�¥� �� x = �(1+p1+�(2+��4u))� �Èþ¤ �îüþ�� ö� ¥�ñ� ± ì Û �� ì Â � è ,¢Â � ðüÞ ÷ ¤�Â ì (��; �) ùb¥� � ¤¢ ø ´¨� �� ¥� Â �×��î � < 0�� ´¨� Â��Â� ë�ê �ó¢�ãõ ¥� x ñ�±ì ¢¤�õ ���� ´þ�ú÷ ¤¢ .Àª��üõx = �(1�p1+ �(2+ �� 4u))� :�� Ü ã õ Ý¹� � � ü ê¢�Ê � � ÷� Þ ÷ × þ ý¥� ¨� � ± ª ¥� ù¢� Ô µ ¨� � � Ç¿ � ß þ� ¤¢ý�Â � � �ß þ� ¤¢ .¢� ªü õ � µ ¡�¢Â � � ûÂ µ õ�¤� � ¢¤ø�Â � � Æ þ� Ö õ � � �ø¢ ©ø¤ ¥��ûÂµõ�¤�� ÓÜµ¿õ Âþ¢�Öõ ø n = 20;50;70;100 ý�û�÷�Þ÷ Ý¹� ¥� ý¥�¨��±ªÂ þ¢� Ö õ ý�¥� � � ø � � ú � R ¤�� ê��Â ÷ � � ý¥� ¨� � ± ª �b õ� ÷Â � .¢� ªü õ ù¢� Ô µ ¨�¤�ÂØ� ¤�� 10000 �� � = 2; 5 ø � = �0=9; �0=5; �0=1; 0=1; 0=5; 0=9¢¤ø�Â� �÷�Þ÷ ý�ûÝ¹� ¥� ×þ Âû ¤¢ ø �ûÂµõ�¤�� ¥� ×þ Âû ý�¥� �� .À÷�ùÀª �Â��ß�Ú÷��õ ø À÷�ùÀª �±¨�½õ üþ�Þ�µ¨¤¢ ÝÞ�Æî�õ ø ý¤ø�µÈð ©ø¤ ø¢ �� �ûÂµõ�¤��ùÀª ��¤� 2 ø 1 ñø�À� ¤¢ ø �±¨�½õ �ûÂð¢¤ø�Â� ý�Â� ,(MSE) �Î¡ �ø¢ ý�ûö���.´¨�öÀ÷�¥�Â� ¥� Û¬�� ¸þ�µ÷ ,ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ýÂ�Â� ö¢�¢ ö�È÷ ý�Â�â þ¥� � ü�ã þ ö� ñÀõ Â þ¥ � � �ûù¢�¢ ¥� ýÂ¨ ×þ � � À þÀ� ´¡���Øþ� ó�� âþ¥��100 Ý¹� � � ü ê¢�Ê � ý�� ÷� Þ ÷ ¤�Ñ � õ ß þ� ý�Â � .¢�ªüõ �Æ þ� Ö õ ´¡�� �Ø þ,ù¢Â î À � ó� � � = 2 ø � = 0=1 ý�ûÂ µ õ�¤� � � � À þÀ� ´¡�� �Ø þ� ó�� â þ¥� � ¥�.À÷�ùÀª �±¨�½õ ñÀõ ø¢ ý�ûÂµõ�¤� � üþ�Þ�µ¨¤¢ ÝÞ�Æî�õ ý�ûÂð¢¤ø�Â� Å³¨ùb¤� õ� Â þ¢� Ö õ ,ñÀ õ ø¢ ý� ûÂ µ õ�¤� � ü þ� Þ � µ ¨¤¢ Ý Þ � Æ î� õ Â þ¢� Ö õ 3 ñøÀ �Â þ¢� Ö õ ø �2 logL ,�Ï� �Â õ ý�û¤�À Ö õ-p ù�ÂÞû � � 7é�÷Â �Þ¨�-éøÂð�Þ ó�îÀ�û¢üõ ö�È÷ Âþ¢�Öõ ßþ� .Àû¢üõ ö�È÷ �¤ 9ö�Æ��ø ø 8�Æ�õ öø-Âõ�Âî ý�ûù¤�õ�7 Kolmogorov-Smirnov (K-S)8 Cramer-von Mises (CM)9 Watson (WA)



ÀþÀ� ´¡���Øþ�ó�� âþ¥�� ×þ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 102
� ø � ÓÜµ¿õ Âþ¢�Öõ ý�¥� �� �ûÂµõ�¤�� ý¤ø�µÈð ¢¤ø�Â� :1 ñøÀ�MSE(e�) MSE(e�) e� e� � � n0=042 0=090 1=992 �0=896 2 �0=9 200=015 0=034 1=994 �0=900 2 �0=9 500=012 0=025 1=994 �0=898 2 �0=9 700=008 0=019 2=001 �0=900 2 �0=9 1000=045 0=128 1=988 �0=499 2 �0=5 200=017 0=056 2=004 �0=502 2 �0=5 500=012 0=037 1=997 �0=503 2 �0=5 700=008 0=027 1=998 �0=499 2 �0=5 1000=039 0=146 1=985 �0=086 2 �0=1 200=017 0=060 1=990 �0=099 2 �0=1 500=011 0=042 1=998 �0=102 2 �0=1 700=008 0=030 1=994 �0=102 2 �0=1 1000=040 0=155 1=994 0=114 2 0=1 200=015 0=065 1=994 0=109 2 0=1 500=011 0=043 1=997 0=107 2 0=1 700=008 0=029 1=997 0=103 2 0=1 1000=0375 0=136 1=985 0=483 2 0=5 200=016 0=051 1=996 0=488 2 0=5 500=011 0=039 1=994 0=493 2 0=5 700=008 0=029 1=996 0=496 2 0=5 1000=037 0=082 1=994 0=899 2 0=9 200=015 0=034 1=996 0=902 2 0=9 500=010 0=024 1=995 0=899 2 0=9 700=008 0=016 2=000 0=900 2 0=9 1000=244 0=090 4=989 �0=898 5 �0=9 200=102 0=035 4=984 �0=892 5 �0=9 500=071 0=026 4=979 �0=890 5 �0=9 700=054 0=017 5=003 �0=904 5 �0=9 1000=234 0=126 4=974 �0=498 5 �0=5 200=099 0=050 4=988 �0=505 5 �0=5 500=075 0=039 5=002 �0=493 5 �0=5 700=050 0=026 4=997 �0=500 5 �0=5 1000=266 0=152 4=975 �0=088 5 �0=1 200=103 0=063 4=992 �0=089 5 �0=1 500=072 0=040 4=988 �0=105 5 �0=1 700=052 0=027 4=991 �0=099 5 �0=1 1000=259 0=161 4=998 0=097 5 0=1 200=109 0=062 4=994 0=097 5 0=1 500=070 0=039 4=985 0=098 5 0=1 700=049 0=029 5=011 0=102 5 0=1 1000=244 0=129 4=986 0=498 5 0=5 200=095 0=051 4=989 0=490 5 0=5 500=076 0=039 4=990 0=494 5 0=5 700=050 0=025 4=999 0=506 5 0=5 1000=243 0=076 4=987 0=896 5 0=9 200=092 0=035 4=982 0=903 5 0=9 500=071 0=024 4=971 0=889 5 0=9 700=053 0=017 4=979 0=894 5 0=9 100



103 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ý¤�¥�ó� �÷�½þ¤ ,ý¢�Þ½õ üÆ�ä
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